oPT

OQC-01511z8 A\ BaRi%

0OQC-015 Robot automatic quick changer

‘Eﬁiﬂikg; e Payload capacity 15 kg;
o 7 ST > ® Steel ball lock system;
T}Eﬁﬂﬂﬂ?@\%ﬁﬁ, ® Adopt the mechanical self-locking design;
o KM B80T * Prevent separation separation from separating when when source of cut off.

o [ LSRR IMDE AT AU 55 .

— EERIFH (KN)Connection retention — TRER (um)Moment clearance
— &7 (KN)Lifting force — {A%E/Ekg (um) Torque clearance
3 60
2.5 50
2 40 /
e Y
% 1 ; 20
0.5 T
0 0 /
0 02 04 0.6 0.8 1 1.2 0 10 20 30 40 50 60
WS EMPa) H358 (N.m)
OQC-015&E . RBFANHLE OQC-015=%E. HAETHLE
0OQC-015 Continuous relay, lifting force curve OQC-015 Bending moment and torque changer curve
Pty e .
HMUESH Specifications
AMEEEGFNERE)Payload capacity 15kg
R EFEEREE Positon repeatability +0.02mm
SRR 675 [ Bending direction( Mx.My) 45N.m
Static allowable torque
4 758 Torque direction( Mr) 48N.m

PEH (HSE 0.49Mpald) Tight locking force (When the air pressure is 0.49Mpa) 1800N

4K Main body $8E % Aluminum alloy
#[& Material
ALRERS BENMELS Locking mechanism EE£5¥ Alloy steel
Mainbod
HEOEY MR (B AT ock) Housing diameter(Lock when locked) ®68mmxH48.5mm
L2 A Robot side 0.27kg
mEE Product weight
TEM Toolside 0.18kg
L5 Disassembling institutions MERERIEIE Steel ball position lock
FEMIESE Disassembling action pressure 0.39~0.7MPa(4~7kgf/cm?)
ARVFRESIEESEE Allowable temperature and humidity range 0-55C, 0-95%(F£5ENo condensation)
1B General BS#L Pneumatic port M5 x 107
Bfr 3 == ; 5A X12PIN/2A x19PIN
[ B General EB{S 5 = Electrical signal

(&S Option)

RS Module parameter

=] o Zx > [=] N [=]
ms | @@y |TERE\TESR )| ameg | Tees | en | omme | T8RS | #h
Model Used in \5o\tage7 currem? Electric pin | Order number | Price Connector | Order number | Price

PTLO5-12P-I-A R?bgit/\s{%e 7.03.01.0154 PTLZ05-12P-I-A 7.03.01.0138
5A 12Pin
PTLOS-12p-1-8 TR 7.03.01.0155 PTLZ05-12P-1-B  7.03.01.0139
(A) (B) pTLO2-10p-I-A IV 7.03.01.0156 PTLZ02-19P-1-A  7.08.01.0140
2A 19Pin
TEM
PTLOZ19P-1B 1o e 7.03.01.0157 PTLZ02-19P-1-B  7.03.01.0141

19 www.opt-eoat.com Data Drawings, 3D Models,Operating Instructions



Hles A B e iR

ROBOT AUTOMATIC QUICK CHANGER

P 9MERS OVERALL DIMENSIONS

P AM: OQC-015-A

33

0O q

Og | so—

Robot side
IJ#RwS: 7.03.01.0005 o TR
Order number R @
B 4
Price

2xM3V6

2 X @4 HT7 V6

12-M5
L_1910¥1.5
104855

Lo SEsSTL
U S

<
@i @/-f 4xM5V8
o

26
—
(e)
Jr

G009
27
2
(@]
O
(@)
©

el 3x@4HTV6
48.5 N -
Al REE PTL05-12P-I-A
ESHER
TEM: OQC-015-B
Tool side
ij—/{)'_‘%zﬁ: N 70301 OOO6 10-M53#57L PTLO5-12P-I-B
mim imber L IG107L5 <71§.%$§i;§
B
Price

23.7

©0;

SO

B

2xM3V6/ 2x@4.5 HTV6.5

P 229588 INSTALLATION DESCRIPTION

#1388 AFE Robot arm

‘ E#EZ Connecting flange ‘ *************

2-@4x12

4-M3x30

! ﬂ ZRIRH M3 F
! The installation plate

taps M3 teeth

4-M3x25
RERI M3 FEERE

\ Mounting plate tapping M3

teeth Directly installed

4-M4x16
LHERD4.5 57
mounting plate @5.5
through hole

Data Drawings, 3D Models,Operating Instructions www.opt-eoat.com 20

©s
©-

n
O~
==

e \/
EETET 90

4xM4v10

HSEES : PTLOS-12P-1A HiEESR : PTLOS-12P-1-B
Electrical connector PTLO2-19P-1-A Electrical connector PTL02-19P-I1-B

AN B EERTSHIES

Media through for
pneumatic and vacuum

.

N\
HASHEL: AP.5002000N20 LBUSHEL: PL6
Straight gas connector L type connector



	页 18
	页 19

